Ratio to ATLAS

do/dA R,,

10

[EEY

0.5

13000 GeV pp

Z+Jet

Rivet 3.1.10, = 2.1M events

I | I I I
= A R™(et, 2) (ATLAS Z+b) =
= Boa -
- /-l 7]
- .,/ ’ ‘\ 1
N . 8 i
. ,// B\\\ \x\\
— R \\ \\. —
— | P L \\\ @ ]
- / // E i
- = 9. .
N g ~
| ] ’ _
1%,

=3 o =" =
- mQATLAS .
— --O-grHerwig++ 2.7.1 default —
— --O-- Herwig 7.2.1 default -
B | | | | | | | | | |
: T T T | T T T | T |:
B e B

b R i
- N\‘~O |
- ,Q G- _
i P S = i
| g n

g
1 1 1 | II ! 1 1 1 | 1 1
0 2 4
AR

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


